F Q%] Hejgetat 11, Hausrt42 4 o,

ol
Mo

ol
<

b~

@ 409 ® 421

@ 358

® 500

@ 462

@ o c {3}

® a ¢ {a,b}

@ 4c{1,2,4}

® {a,b} C {a,b}

® o€ {0}

te] n(A) = 10,n(B) =

)

A,B o o
13,n(ANB) =59 ™, n(A—B)+n(B—A)

A%

=
an

6.

?

LSy
.

@ 11 ® 13 @ 15 ® 17

® 10

o
A

M ol
T

® {3,4}cA

D 5eA
@ 4ecA

@ {3ycB

® {1,2, 3,4, 5 CA

ofefjel o] ehd uj, AROECZ

=
=

<k

Aol 42 tefofet.

Al
H

ofe} ¥l tholo] 1elo]

3.

e

<
%0
e

aa]
<
70

<t
N
ol
Xfo
ojn -
‘Dl o_‘_
g
o o
T o8




S}

o

F A
A={z] x% ‘mathematics’ ol 21 2z} |
B = {z | 2= * science ’ °f| 2221 23}
o shotel g B710] 2N F AU B o] Bast
obd Ag w5 Eelel
H7]

a’7c7g)h7z7k7m7n’07q’8’t

ARG U = {z | 2= 12 oI5t A5} 9 T
BEAT A = {2 | 2= 69 &=}, B =

zi= 89 ¢k} of tiste], A — Beg dAavd

A UEbd A2

@ {1, 2} @ {1, 2, 3}

® {1, 2, 4} @ {1, 2, 3, 6}

® {1, 2, 4, 8}

{z |

Mo

u

11.

ZFAS o,y ©f thHatod — =y 2 &Sk 2 9
S davgoz YehfiH?

@® {1,4} @ {4,5}

® {5,20} @ {4,5,20}

® {1,2,4,5,20}

ol AHFA4E 242 YA 127 91, 152 URH 3
o] =t et o]t ZFAS FollA 50000 7HE
Wt 5 oY

O 468 @ 472 ® 480

@ 488 ® 496

oo u}olouww n(U)
21,n

kil
)
L

4 A4

O
_,,
1

(B
chery

U

@ 10 @ 12 3 14 @ 16 ® 18




13. 3, 5, 6 9] oj= Ao & o Y7}t 29 5+ F

Al Are] s BE =2 QI
@ 2874 @ 297} @ 307
@ 3170 ® 3271

14. JF A = {z | 2= 129] 5} & o, Hoj= 5hte]
a7 &5 HE A o REAZ O] |4E ot
2},

15. 3 A={z|z=a =}, B={2, 4, b, ¢}
of tistd A=B <€ ™, a+b+c 9 g ot

16. A A = {x | 2= 10 o]5te] 25} of tiate] F3t 4

17.

18.

19.

bo] oF%} o

L0
206 1

A = {z]z= a2 7}, B = {z]ae
Aetel a, b o AhBEE 36 2 W, T %

Ag LT 1E A2

H7]

=]

@ 16€ ANB

© {1, 2, 3}CcANB

® n(ANnB)=10

® AN B C {zfa 729 o}

@ AUB = {z|zt 369] v}

® 00 ONENC)

®© 066 ® 0,0,0

® 0,006,

A& S = {z|z<9,0= AAF} o] FEHFY 4 =
z|xze A°IH 12—z € A} 7} ok At A o] A%
Fatoa).

A5 a ol theked Pla) & % Uehd

a o] 7
ok & w, P(1200) = P(3° x 77) 1A n 9] 32

@1 @ 2 ® 3 @ 4 ® 5




20. dAR U o FAgte] ofd Al

21.

AAYE U o] RRAEA WY 4, B,C © 949 A
= 2429 7N, 10 70, 11 7Hele}. (A-B)U(BUC)* =
o 4w, n(BNC)—n(AUB) ©] k& Fatelet




